PbPD \s,, = 5.02 TeV, 1.70 nb™ ti-k; R = 0.4
CMS SaN ev, i n anti-k pCh > 2 GeV
Prellmlnary pp Vs =5.02 TeV, 302 pb |r]]_et| <1.6 T
10°F 120<jetp <140GeVF 140<jetp <160GeVFE 160<jetp <180GeVE 180<jetp. <200 GeV
oo, T Ren= s SUY T o=, . T e, T
Q 10 ettelg g, SEaaaas e
Tl e 5 ey, 5 “Tee,, e,
I R =% ey, *:'3':*'*. R -y
L 1§_ ’3;::“#5 ‘:*.**_*; 3 oy Ty = Ty o
10_1 ;_ PbPb 0-10% '.0:;? '-0::_ 0:*;5_ ’0*::
2 =_ - I I - I '_ I I
10%¢ =PbPb,n=1 ¢ ==PbPb, n=2 [
R Lottt post=t, ;‘!ri*- oy
O 10 pesrriag, et ey T ey, 3 83,
E F & F ek E
L C %{z':*t, . x;:*," ‘;;*'*. ‘*;:*“r
L 1;_ ";*ﬁ." 3 -.":t_‘__::'l.. 3 ‘?&;}:i.. v [ e .*.t**
L[, PbPb 10-30% ) g Y e
i R o e -
10°¢ wpp,n=1  § “pp,n=2  §
[ ypt=trg R R o=ttty =",
Q 10 E—E.:gt*mt,‘* ?;d:*‘*;ic, Eﬂ:*m‘*-&. —*’: "
L : ;':; - ; *;;;'*t ; *;:"t - *;:"'t
N E o S &, s i 5, e [ e
- pS: Seees e,
10k PbPb 30-50% &‘a:_ ‘3@_ el *’333
102 ;_ & I I a I : I I
E F=tgo.
-*=0_—'.==‘_-¢=-o- o Lot="00 o . f.:-._..'.'-o- 9,
Q 10 pannrriag Ly ataaly . -*""""':*u..
T e, Fee,
., T, ¢, g v e [ =, T -
L 1_ ‘**::#’-- ***‘:..'-_ ***-o.'.'- *’.’F:g"':
L PbPb 50-90% *"f- **4:_ "'OT L
-1 E + *- *
10 : 1 1 ‘L-..I L MR | 1 | L 1l L | L .T
1072 10™ 1072 107 1072 107 1072 107"



	Contents
	Page 1


